# Informational Report for the September 15, 2015 Board of Trustees Meeting

Last Name	First Name	мі	Site	New Emp to District	Duties	Division	Hour		Maximum Amount	Ŭ	Assign End Date
Lust Nume	i ii St Name		One	DISTINC	Dulico	Division	1.01	c maximum	Anount	Beg. Bate	End Date
Chabot College - C	ommunity Educat	ion									
Hawtrey	Nancy	S.	Chabot	No	Teach water aerobic classes to Community Education students	Community Education	\$ 40.5	0 36	\$ 1,458.00	6/16/2015	9/4/2015
Pinkas	Catherine	nmi	Chabot	No	Teach project management courses to Community Education students	Community Education	\$ 60.0	0 48	\$ 2,880.00	6/16/2015	8/21/2015
Ragbotra	Kamal	nmi	Chabot	No	Teach fashion design classes to Community Education students	Community Education	\$ 25.0	0 8	\$ 200.00	7/6/2015	7/9/2015
Chabot College											
Andrade	Deverie	J.	Chabot	No	Provide specialized services, support specific facility use contracts and support specific projects and events for the Performing Arts Center	Arts, Humanities, and Social Sciences	\$ 23.0	0 550	\$ 12,650.00	7/1/2015	12/31/2015

# Informational Report for the September 15, 2015 Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Division		Hourly Rate	Maximum		Maximum Amount	Assign Beg. Date	Assign End Date
Diducti	Makhauha		Chahat		Provide language and speech consultation services to comply with Child, Family, and Community Services	Children's	•	45.00		¢	4.405.00	0/40/2045	40/00/0045
Bidgoli	Mahboube Katherine	G. A.	Chabot Chabot	No	grant requirements Provide training and coordination support for the Foster and Kinship Care Education (FKCE) Program	Center Foster and Kinship Care Education	\$	45.00	25 30		1,125.00	9/16/2015 9/4/2015	12/23/2015 12/23/2015
Brown	Clydelle	nmi	Chabot	No	Provide assistance in purchasing, preparing and serving meals for the CARI /PRIDE/ FKCE Program	Foster and	\$	17.39	125	\$	2,173.75	8/1/2015	12/23/2015
Canady	Karen	М.	Chabot	Yes	Provide PRIDE training for the Foster and Kinship Care Education (FKCE) Program	Foster and Kinship Care Education	\$	65.00	52	\$	3,380.00	8/1/2015	12/23/2015

# Informational Report for the September 15, 2015 Board of Trustees Meeting

Last Name	First Name	мі	Site	New Emp to District	Duties	Division	Hourly Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
Contreras-Garcia	Karina	G.	Chabot	No	Provide guidance on Student Success Program core requirements for Peer Advisors	Counseling	\$ 20.00	250	\$ 5,000.00	6/16/2015	8/30/2015
Davis	Asti	J.	Chabot	No	Work as an Instructor for the disadvantaged youth summer sports program	Special Programs & Services	\$ 18.00	10	\$ 180.00	7/1/2015	7/30/2015
Gholar	Anita	M.	Chabot	No	Provide PRIDE training for the Foster and Kinship Care Education Program	Foster and Kinship Care Education	\$ 65.00	52	\$ 3,380.00	9/1/2015	12/23/2015
Harrell	Dorothea	nmi	Chabot	No	Provide support for offsite child-care facilities	Foster and Kinship Care Education	\$ 20.00	200	\$ 4,000.00	8/1/2015	12/23/2015
Hauser	Gerry	А.	Chabot	No	Provide PRIDE training for the Foster and Kinship Care Education Program	Foster and Kinship Care Education	\$ 50.00	64	\$ 3,200.00	8/1/2015	12/23/2015

# Informational Report for the September 15, 2015 Board of Trustees Meeting

Last Name	First Name	мі	Site	New Emp to District	Duties	Division	Hourly Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
Last Name	i ii st italiic		One	District	Daties	Division	Nute	Maximam	Anount	Beg. Date	Ena Date
Hernandez	Janett	nmi	Chabot	No	Provide support development, coordination, and translation for Spanish PRIDE/After PRIDE workshops	Foster and Kinship Care Education	\$ 20.00	75	\$ 1,500.00	9/4/2015	12/23/2015
Jones-Rasberry	Lois	E.	Chabot	No	Provide training and coordination support for the CARI and Foster and Kinship Care Education Program	Foster and Kinship Care Education	\$ 50.00	450	\$ 22,500.00	7/16/2015	12/23/2015
Long	Lisa	J.	Chabot	No	Provide workshops for the CARI program	Social Science	\$ 50.00	10	\$ 500.00	9/4/2015	12/23/2015
McMillan	Rosalind	D.	Chabot	No	Provide initial training for the PRIDE program for foster parents	Foster and Kinship Care Education	\$ 65.00	52	\$ 3,380.00	9/1/2015	12/23/2015
Evans-Mc Williams	Gwendolyn	Υ.	Chabot	No	Provide PRIDE training for the Foster and Kinship Care Education Program	Foster and Kinship Care Education	\$ 50.00	52	\$ 2,600.00	8/1/2015	12/23/2015

# Informational Report for the September 15, 2015 Board of Trustees Meeting

# Professional Expert Appointments

Last Name	First Name	MI	Site	New Emp to District	Duties	Division	Hourly Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
										<u> </u>	
Mongtomery	Jasmine	T.	Chabot	Yes	Provide specialized Emergency Operations Services to support Facility Use Contracts as well as specific projects/events	Performing Arts Center	\$ 16.00	300	\$ 4,800.00	8/1/2015	12/31/2015
Nalls	Rosalind	Α.	Chabot	No	Provide PRIDE training for the Foster and Kinship Care Education Program	Foster and Kinship Care Education	\$ 65.00	52	\$ 3,380.00	9/1/2015	12/23/2015
Ontiveros	Skye	G.	Chabot	No	Provide training on core support services and requirement for peer advisors	Student Services	\$ 20.00	105	\$ 2,100.00	6/16/2015	8/15/2015
Orviss	Donna	L.	Chabot	No	Provide training on health related subjects for CARI and FKCE, including infant health	Foster Kinship Care Education	\$ 100.00	30	\$ 3,000.00	9/4/2015	12/23/2015
Otto	Luzemilia	nmi	Chabot	No	Provide initial training for the PRIDE program for foster parents	Foster and Kinship Care Education	\$ 50.00	52	\$ 2,600.00	9/1/2015	12/23/2015

# Informational Report for the September 15, 2015 Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Division	Hourly Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
Page	Thema	S.	Chabot	No	Provide training workshops for the PRIDE program for foster parents	Foster and Kinship Care Education	\$ 65.00	52	\$ 3,380.00	9/1/2015	12/23/2015
Powell	Yvette	L.	Chabot	No	Provide support for PRIDE classes	Foster and Kinship Care Education	\$ 20.00	400	\$ 8,000.00	8/1/2015	12/23/2015
Riley	Gloria	А.	Chabot	No	Provide PRIDE training for the Foster and Kinship Care Education Program	Foster and Kinship Care Education	\$ 50.00	24	\$ 1,200.00	8/8/2015	12/23/2015
SanchezPillot	Adriana	М.	Chabot	No	Provide training on core support services and requirement for peer advisors	Student Services	\$ 20.00	45	\$ 900.00	6/16/2015	6/30/2015
St. Germaine	Michelle	E.	Chabot	No	Provide training workshops for the PRIDE program for foster parents	Foster and Kinship Care Education	\$ 50.00	30	\$ 1,500.00	9/4/2015	12/23/2015
Stewart-Felix	Paula	D.	Chabot	No	Provide training workshops for the PRIDE program for foster parents	Foster and Kinship Care Education	\$ 50.00	52	\$ 2,600.00	8/1/2015	12/23/2015

# Informational Report for the September 15, 2015 Board of Trustees Meeting

# Professional Expert Appointments

Last Name	First Name	МІ	Site	New Emp to District	Duties	Division	Hourly Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
Suarez	Martha	E.	Chabot	No	Provide training workshops for the PRIDE program for foster parents	Foster and Kinship Care Education	\$ 65.00	52	\$ 3,380.00	8/1/2015	12/23/2015
Vazquez	Akilah	V.	Chabot	No	Provide PRIDE training for the Foster and Kinship Care Education Program	Foster and Kinship Care Education	\$ 65.00	52	\$ 3,380.00	9/1/2015	12/23/2015
					-						
Las Positas Colle	ege - Community Ed	ucation									
Broida	David	F.	Las Positas	No	Teach music classes to Community Education students	Community Education	\$ 30.00	25	\$ 750.00	7/1/2015	12/31/2015
Brown	Candace	E.	Las Positas	No	Teach music classes to Community Education students	Community Education	\$ 40.00	100	\$ 4,000.00	7/1/2015	12/31/2015
Fredrich	Michael	F.	Las Positas	No	Teach art and framing classes to Community Educaton students	Community Education	\$ 30.00	72	\$ 2,160.00	11/1/2015	12/31/2015
Howard	Jared	N.	Las Positas	No	Support degreeworks and student success support program implementation	Student Services	\$ 49.24	480	\$ 23,635.20	7/1/2015	12/31/2015

# Informational Report for the September 15, 2015 Board of Trustees Meeting

				New Emp to			Hourly		Maximum	Assign	Assign
Last Name	First Name	МІ	Site	District	Duties	Division	Rate	Maximum	Amount	Beg. Date	End Date
Kechich	Sonia	nmi	Las Positas	No	Teach language classes to Community Education students	Community Education	\$ 30.00	134	\$ 4,020.00	9/1/2015	12/31/2015
Kutil	Creig	Α.	Las Positas	No	Teach wellness and physical activity classes to Community Education students	Community Education	\$ 30.00	200	\$ 6,000.00	8/5/2015	12/31/2015
Ligon	Jack	L.	Las Positas	No	Teach photography classes to Community Education students	Community Education	\$ 40.00	75	\$ 3,000.00	7/1/2015	12/31/2015
Moyer	Aida	G.	Las Positas	No	Teach Spanish classes to Community Education students	Community Education	\$ 40.00	200	\$ 8,000.00	9/1/2015	12/31/2015
Rheinheimer	Sophie	C.	Las Positas	No	Teach fencing classes to Community Education students	Community Education	\$ 40.00	100	\$ 4,000.00	7/1/2015	12/31/2015
Ringener	James	W.	Las Positas	No	Teach fencing classes to Community Education students	Community Education	\$ 40.00	50	\$ 2,000.00	9/15/2015	12/31/2015

# Informational Report for the September 15, 2015 Board of Trustees Meeting

Last Name	First Name	мі	Site	New Emp to District	Duties	Division	Hourly Rate	Maximum	Maximum Amount	Assign Beg. Date	-
	i not rianio			Diotifiot	Dalloo	Division	nuto	Maximum	7 uno uno	Bog. Bato	Life Date
Ruddle	Kathlyn	G.	Las Positas	No	Teach art classes to Community Education students	Community Education	\$ 40.00	50	\$ 2,000.00	10/1/2015	12/31/2015
Sramek Jr.	John	nmi	Las Positas	Yes	Teach business and finance classes to Community Education students	Community Education	\$ 30.00	25	\$ 750.00	9/1/2015	12/31/2015
Valverde	Luis	nmi	Las Positas	No	Teach fitness classes to Community Education students	Community Education	\$ 30.00	50	\$ 1,500.00	9/1/2015	12/31/2015
West	Matthew	S.	Las Positas	No	Teach fitness classes to Community Education students	Community Education	\$ 30.00	200	\$ 6,000.00	8/5/2015	12/31/2015
Las Positas College											
Adkins	Lori	J.	Las Positas	No	Provide skills evaluation and assess Emergency Medical Technology students	Science, Technology, Engineering, Math & Public Safety	\$ 15.00	100	\$ 1,500.00	7/1/2015	12/31/2015

# Informational Report for the September 15, 2015 Board of Trustees Meeting

# Professional Expert Appointments

Last Name	First Name	мі	Site	New Emp to District	Duties	Division	Hourly Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
Arenas	Christina	L.	Las Positas	No	Lead Math Jam Workshops for Fall 2015 session	Science, Technology, Engineering, Math & Public Safety	\$ 47.00	50	\$ 2,350.00	8/8/2015	12/31/2015
Bilotti	Brendalyn	nmi	Las Positas	Yes	Provide lab skills training, evaluation and assessment for Fire Service Technology Program	Science, Technology, Engineering, Math & Public Safety	\$ 15.00	10	\$ 150.00	6/25/2015	7/30/2015
Colburn	Matthew	W.	Las Positas	No	Provide program skills coordination for the Paramedic Program	Science, Technology, Engineering, Math & Public Safety	\$ 25.00	200	\$ 5,000.00	7/1/2015	12/31/2015
Cropley	Christopher	J.	Las Positas	Yes	Provide lab skills training, evaluation and assessment for Fire Service Technology Program	Science, Technology, Engineering, Math & Public Safety	\$ 15.00	108	\$ 1,620.00	8/17/2015	12/31/2015
Edward	Danielle	R.	Las Positas	Yes	Provide certification and pre-accreditation documentation for Paramedic Program	Science, Technology, Engineering, Math & Public Safety	\$ 15.00	270	\$ 4,050.00	9/1/2015	12/31/2015

# Informational Report for the September 15, 2015 Board of Trustees Meeting

Last Name	First Name	мі	Site	New Emp to District	Duties	Division	Hourly Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
Last Name	i ii st Naine	1411	Sile	District	Dulles	DIVISION	Nate	Waximum	Amount	Deg. Date	
Gach	Sharon	V.	Las Positas	No	Provide assistance for Accreditation evidence work	President's Office	\$ 28.00	13.5	\$ 378.00	5/1/2015	5/19/2015
Gourley	Regina	А.	Las Positas	Yes	Facilitate expanded and comprehensive assessment services and provide outreach services to students	Student Services	\$ 30.00	350	\$ 10,500.00	7/1/2015	12/31/2015
Helstrom	Zel	D.	Las Positas	No	Provide skills evaluation and assess Emergency Medical Technology students	Science, Technology, Engineering, Math & Public Safety	\$ 15.00	100	\$ 1,500.00	7/1/2015	12/31/2015
Holback	Richard	A.	Las Positas	No	Provide skills evaluation and assessment for Fire Service Technology Program	Science, Technology, Engineering, Math & Public Safety	\$ 15.00	100	\$ 1,500.00	7/1/2015	12/31/2015
Holback	Richard	A.	Las Positas	No	Provide program skills coordination for the Paramedic Program	Science, Technology, Engineering, Math & Public Safety	\$ 25.00	150	\$ 3,750.00	7/1/2015	12/31/2015

# Informational Report for the September 15, 2015 Board of Trustees Meeting

# Professional Expert Appointments

Last Name	First Name	мі	Site	New Emp to District	Duties	Division	Hourly Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
Holback	Richard	А.	Las Positas	No	Provide lab coordination for the Paramedic Program	Science, Technology, Engineering, Math & Public Safety	\$ 50.00	140	\$ 7,000.00	7/1/2015	12/31/2015
Sison	Lucas	J.	Las Positas	No	Provide skills coordination for the Paramedic Program	Science, Technology, Engineering, Math & Public Safety	\$ 25.00	200	\$ 5,000.00	7/1/2015	12/31/2015
Vyborney	Ryan	E.	Las Positas	No	Provide skills coordination for the Paramedic Program	Science, Technology, Engineering, Math & Public Safety	\$ 25.00	200	\$ 5,000.00	7/1/2015	12/31/2015
Whitlock	Jeffrey	М.	Las Positas	No	Provide skills coordination for the Paramedic Program	Science, Technology, Engineering, Math & Public Safety	\$ 25.00	200	\$ 5,000.00	7/1/2015	12/31/2015
District Services											
Bell	Erick	О.	District	No	Provide non-credit business and finance skills training to local area companies		\$ 75.00	15	\$ 1,125.00	9/1/2015	12/31/2015

# Informational Report for the September 15, 2015 Board of Trustees Meeting

Last Name	First Name	мі	Site	New Emp to District	Duties	Division	Hourly Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
Cairel	Alexander	J.	District	Yes	Provide assistance on the OSHA Training Center student registration reconciliation project.	Contract Education	\$ 10.00	590	\$ 5,900.00	7/1/2015	12/31/2015
lanniello	Raphaella	A.	District	No	Provide non-credit training and consulting services to department and local area companies	Contract Education	\$ 100.00	100	\$ 10,000.00	7/1/2015	12/31/2015
Jones	Akeba	J.	District	Yes	Provide assistance as the OSHA Training Center Outreach Program Card Processor	Contract Education	\$ 18.00	590	\$ 10,620.00	7/1/2015	12/31/2015
Lauffer	Mary	М.	District	No	Provide services for marketing, public relations, advertising and special events	Chancellor's Office	\$ 50.00	150	\$ 7,500.00	7/1/2015	12/31/2015